
4,325 – 3,115



4,325 – 3,115



4,325 – 3,1154,325 – 3,115

Did you get 1,210?

1,210



4,325 – 3,116

What do you notice?



4,325 – 3,116

Did you spot there aren’t enough ones to take 6 ones away?
So what do we do?



4,325 – 3,116

We exchange 1 ten for 10 ones.



4,325 – 3,116

We exchange 1 ten for 10 ones.
Now we can take 6 ones away from 15.
15 – 6 = 



4,325 – 3,116

We exchange 1 ten for 10 ones.
Now we can take 6 ones away from 15.
15 – 6 = 9
Is the final answer?



4,325 – 3,116

Did you get 1209? 





ten

tens

ten hundreds



3378

5 3 1 5



3378

5 3 1 5
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5 3 1 5
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3,565 – 2,146Hilda

Hilda?



5

6

5

4

3,565 – 2,146Hilda

Hilda?
No

Hilda has subtracted 5 from 6 to get 1 (6 - 5 = 1) but she should have  

tried 5 – 6 and exchanged a ten for 10 ones to make 15 – 6 = 9.

15

91



You can use place value counters or column subtraction to 
calculate the answer.

£7,617

£2,231



T H T O

7 6 1 7

2 2 3 1

£7,617

£2,231

If you used column subtraction did you make this calculation?



T H T O

7 6 1 7

2 2 3 1

5 3 8 6

£7,617

£2,231

15

- 5, 386

Did you get 5,386?


